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https://archive.ics.uci.edu/ml/datasets/bike+sharing+dataset
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import pandas as pd
import numpy as np
import zipfile
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K OF = po read csvir' & tb/ﬂ—ﬁVday esv’)

df = pd.read_csv('day.csv’)
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instant dteday season yr mnth holiday weekday workingday weathersit temp ate

0 1 10 1 0 6 0 2 0344167 0363
1 2 2 10 1 0 0 0 2 0363478 0353
2 3 2 10 1 0 1 1 1 0196364 0.189:
3 a 0 10 1 0 2 1 10200000 0212
4 5 200 10 1 0 3 1 1 0226057 0.229;
126 T2 9% 11 12 0 4 1 2 0254167 0226
2 1 9% 11 12 0 5 1 2 0253233 0255
28 7129 Q% 11 12 0 6 0 2 0253333 0242
29 10 9% 11 12 0 0 0 1 0255833 0231
730 731 2012 11 12 0 1 1 2 0215833 0223
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from sklearn.model _selection import train_test_split

& OF = pd. get dummies (0F, drop First=True)

X =dF focf. OF columnsi="cnt’]

£y =d0fcent’']

%= df.iloc[:, =11

y = df.iloc[:, -1]

X_train, X_test, y_train, y_test = train_test_split(¥X, v, test_size=0.3, random_state=0)

from sklearn import tree

& from skiearn. ensemble fmport RandomforestCiassifier
from sklearn.ensemhle import RandomForestRegressor
model = RandomForestRegressor (random_state=1)
model.fit (¥ _train, v_train)

¥ mode!. predict (X test)

RandomForestRegressor (random_state=1)
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from sklearn.metrics import r2_score

y_pred = model.predict (X_train)

print (r2_score(y_train, y_pred))

0.9819674134293361 — /N J A=Y e Xttﬁ;&

£ testdr? scoreF KB
y_pred = model.predict (¥_test)
print (r2_score(y_test, y_pred))

0.8921095534295026




In [19]:

In [20]:
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¥ traindr2 scoreF RS
y_pred = model2.predict (¥_train)
print (r2_score(y_train, y_pred))

XD 77

0.979726269551416

import matplotlib.pyplot as plt

plt.scatter(y_train, y_pred)

plt.show()
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In [21]:

In [22]:

TANT =80T 77

¥ test®dr? scoreF RS
y_pred = model2.predict (§_test)
print (r2_score(y_test, y_pred))

0.8903323137035112

import matplotlib.pyplot as plt
plt.scatter(y_test, y_pred)
plt.show()
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